ORDER FORM – PAGE ONE CONTRACT #TRIPS-17-CA-FTS-C

COLLINS CUTAWAY TRANSIT VEHICLES-FLORIDA TRANSPORTATION SYSTEMS, INC.

AGENCY NAME: _____

DATE: _____

PURCHASE ORDER NUMBER: _____

CONTACT PERSON: Paul Strobis, 954-357-8321, pstrobis@broward.org

(Name, Telephone Number and Email Address)

Item	Unit Cost	Quantity	Total Cost	
Base Vehicle Type				
Ford Transit 3.5L Gas T24 Commercial 10,360 23'	\$71,047	49	\$3,481,303.00	
Vinyl Stripe Choices				
Scheme #1	\$400			
Scheme #2	\$500			
Scheme #3	\$430			
Base Seating				
Standard Seat (per person)	\$400	294	\$117,600.00	
Foldaway Seat (per person)	\$545	98	\$53,410.00	
Children's Seat (per person)	\$562		<i>400,110.00</i>	
Securement Systems				
Q'Straint slide and click securement (per position)	\$570	98	\$55.860.00	
Sure-Lok Titan securement (per position)	\$570	00	+00,000.00	
WC-18 Compliant Occupant Restraint-Q-Straint QRT360 (per position)	\$820			
Seat belt extensions	\$35			
Freedman TDSS tie-down system	ψθθ			
Side Wheelchair Lift Choices (ILO Standard Lift Add~)				
Braun Model NCL919IB-2 (or latest)	Standard			
Ricon model K-5510 800 LBS	Add \$1,116			
Braun Model NCL 10001000 LB lift	Add \$121	49	\$5.929.00	
Rear Wheelchair Lift Choices (ILO Standard Lift Add~)				
Braun model NVL917IB lift	Add \$520			
(prior approval from FDOT required)	Add \$520			
Optional Engines				
Diesel engine meeting current EPA requirements				
Ford 2.0L Power Stroke Inline 5 diesel	\$1,822			
Alternative Fuel Systems				
Compressed Natural Gas (CNG) Engine meeting current EPA requirements: pricing for Alternate Fuel Vehicles include upcharge for delivery and Methane detection system (CNG only).				
Compressed Natural Gas (CNG) Size: 20 GGE Make: ICOM Installer: A1 Alternatives	\$16,100			
PAGE ONE SUB-TOTAL			\$3,714,102.00	

ORDER FORM – PAGE TWO CONTRACT #TRIPS-17-CA-FTS-C

COLLINS CUTAWAY TRANSIT VEHICLES-FLORIDA TRANSPORTATION SYSTEMS, INC.

Item	Unit Cost	Quantity	Total Cost	
Wheels/Rims				
Stainless steel wheel liners / inserts	\$203	49	\$8,932.00	
Seating				
Dimensions vinyl line of coated transit bus seating fabric with antimicrobial Nanocide (per seat)	Standard			
Upgrade interior side wall panels with Nanocide	\$1,562			
Fire Suppression				
Fog Maker Fire Detection and Suppression System	Standard			
Route/Head Signs				
Transign manually operated roller curtain type sign	\$1,875			
TwinVision <i>"Elyse" <u>(software needed)</u> electronic destination system (FR/SD/RE)</i>	\$7,375			
TwinVision "Mobi-Lite" electronic destination sign (FR/SD)	\$3,812			
Transign "Vista Star" electronic destination sign (FR/SD)	\$4,800			
Transign LLC 2-digit Block / Run Number box unit	\$395			
Transign LLC3-digit Block / Run Number box unit	\$410			
Transign LLC passenger " STOP REQUESTED " sign system	\$1,400			
Camera Systems				
Seon camera System, 2 cameras = (\$1,580); 5 Camera system = (\$4,300);	See Item			
REI camera System, 2 cameras = (\$1,821); 5 Camera system = (\$4,025)	See Item	49	\$89,229.00	
Gate Keeper camera System, 2 cameras = (\$1,868); 5 Camera system = (\$4,300)	See Item			
AngelTrax 2 camera System, 2 cameras = (\$1,924); 5 Camera system = (\$3,700)	See Item			
Angel Trax 2 TB SS HD	\$1,750			
Angel Trax 2 TB HD	\$241			
Apollo 2 camera System, 2 cameras = (\$3,424); 5 Camera system = (\$5,080)	See Item			
Price for single replacement camera	\$295	98	\$28,910.00	
Exterior Mounted Cameras, upcharge per location	\$125			
PAGE TWO SUB-TOTAL			\$128,086.0	

ORDER FORM – PAGE THREE CONTRACT #TRIPS-17-CA-FTS-C

COLLINS CUTAWAY TRANSIT VEHICLES-FLORIDA TRANSPORTATION SYSTEMS, INC.

Item	Unit Cost	Quantity	Total Cost	
Camera Systems Continued				
GPS, passive	\$205	49	\$10,045.00	
Wi-Fi connection	\$725	49	\$35,525.00	
Integration with input signals	\$125	49	\$ 6,125.00	
NOTE: Two camera systems can accommodate up to four cameras				
NOTE : Five camera systems can accommodate up to eight cameras				
Other Options Available				
Altro Transflor slip resistant vinyl flooring	\$403	49	\$19,747.00	
Gerfloor slip resistant sheet vinyl flooring	Standard			
Drivers running board	\$215	49	\$10,535.00	
Drivers Safety Partition	\$280			
Bentec Powder-Coated handrails and stanchions (Yellow)	\$851			
Exterior remote controlled mirrors	Standard			
Romeo Rim HELP bumper (rear only)	\$645			
HawKEye Reverse Assistance System (with rear HELP bumper)	\$1,500			
Reverse camera and monitor backing system: <i>Manufacturer:</i> <u>Rosco</u>	\$309	49	\$15,141.00	
Air purification system \$1,575	\$2 ,300 \$1575	49	\$77,175.00	
"Mentor Ranger" in-vehicle computer	\$6,250			
REI Public Address System	\$369			
Upgrade the standard vehicle AM/FM Radio	\$247			
Avail MDT – Includes Para Transit Kit #FC-2012 – Driver Interface, Communications, Interface Expansion Box (IEB), Emergency Alarm, and Navigational Assistance Unit	\$16,060			
2-Position Sportworks bike rack (black)	\$2,085			
2-Way Radio Prep	\$67			
LYTX Drive Cam	\$1,550			
Rosco Dual Vision	\$1,489			
Rear Door Handle	\$26			
Air Conditioning				
ACT Roof Mount	Standard			
PAGE THREE SUB-TOTAL			\$174,293.00	

ORDER FORM – PAGE FOUR CONTRACT #TRIPS-17-CA-FTS-C

COLLINS CUTAWAY TRANSIT VEHICLES-FLORIDA TRANSPORTATION SYSTEMS, INC.

ORDER SUMMARY

Item	Unit Cost	Quantity	Total Cost
PAGE THREE SUB-TOTAL (sub-total of third page)			\$174,293.00
PAGE TWO SUB-TOTAL (sub-total of second page)			\$128,086.00
PAGE ONE SUB-TOTAL (sub-total of first page)			\$3,714,102.00
GRAND TOTAL (sum of pages 1, 2, and 3 sub-totals)			\$4,016,481.00

ANTICIPATED USAGE

Service Type: (check all that apply)	
Fixed Route	
Paratransit X	
Shuttle/Deviated Fixed Route	
Estimated days in service per week <u>7</u>	16
Operating Environment (check all that apply)	
City Streets	
Highway	
Parking Lot/Airport Shuttle	96 32
Retirement Campus	
Combination City/Highway ^x	32
College Campus	
Other	
Operational Equipment (check all that apply)	
Destination Signs	16
Fare Box	
Routing equipment	
Camera System <u>×</u>	
Passenger counter	
Other_x	

CHOICES FORM

CONTRACT #TRIPS-17-CA-FTS-C

COLLINS CUTAWAY TRANSIT VEHICLES

FLORIDA TRANSPORTATION SYSTEMS, INC.

SEATING AND FLOORING CHOICES

Seating Colors:	(circle one)	Blue	Charcoal	כ	
Flooring Colors:	(circle one)	Blue	Gray	Beige	Black
Paint Scheme:	(circle one)	#1	#2	#3	Other

Paint Schemes Note: If an agency requires a paint and lettering scheme that is NOT GENERALLY covered by one of those listed above, they may make separate arrangements either with the manufacturer or a local vendor to provide these services. Agencies will select colors (2) for background and stripes when orders are placed. All paint scheme pricing shall reflect white base coat.

Upholstery Information-Vinyl Colors Available:

BLUE CMI VINYL #119 Dimensions Nanocide Late Evening

CHARCOAL CMI VINYL #120 Dimensions Nanocide Charcoal

WHEELCHAIR LIFT CHOICE

Wheelchair Lift: (circle one)

Braun Ricon

SECUREMENT RETRACTOR CHOICE

W/C Securement: (circle one)

Sure-Lok Titan

Q'Straint QRTMAX